@

®

¢S



{1,2,3,6}, (AN B)° = {5,6,8,9,10}, (AU B)* = {5,
27 g2 A9

® B=1{1,2,3,9,10} @ A-B={6}
® AnB=1{1,23) @ B¢ ={5,6,8)

® BN A ={8,9,10}



3.

HAALF U ={a,b,c.d,e} o] F F-&
diste] Acn Be 27

@ {a} @ {a,c} ® (b)



kg 271 FolA A AL BE 18 ALY
(1]
H7]

@ 2 AFEHSY =Y

© 1080 2 A5 By
© MP3E wo| 71A 59| nal
@ AdE dohe M= 2

® 07} 14o]o] Gl AHeA4e] @)

® S oA PMP & 71 SAES] 1Y)

ORCNC) @ ® 6
® 0,® 06 ® 0.0 06

® 9,06,




me L

©

@ $eulA o] AL 5}

®

22 WEH FE Rl Yol 4] gh BAoltt, Mo
24 8 13 v, Q9 1 2L

Beo] $A15 1Y - 5T E 5215 1Y

SIS ] B9 2] A o]
S BY

=

1

=



A4 473 <1

6.

("h5€A

1
1-x

B

(1) xe A ©]

® 2

@ 1



ol
O
Nfo
oln
ny
=3
o
<=
B
=
I
BN
S
S
—
Vi
)
(]
I_I
S o
2 o
[IONS
5 o
| N
< ™
B X
RE of

@ {x-1<x<3, x

® {(xl<x<b, x

)

2~
an

A<l

S
1

® (xl1<x<5, x



Al 4g A, B, C o tiste
A = {x]x= good friends 9] Lopal 242 |
B = {xlx &= 4 o%F 7 oI5k 49] vl
C = {xlx = 82 127} & o,
n(A) +n(C) — n(B) & stofzh

D R
=%



9.

A A =1{2,0,1,{0,1}} ol 5t th& 5 &= A H+E
H7]
O oeA © ocA © {(@}cA
@ {(0jeA @ (0,1} c A ® {{0,1}}cA
@® 274 @ 374 @ 474 @ 574 ® 674



5

q_

O
=

= b 7lolt}. olm, a+b ] gk

I3

&

1

A7F5 709

]

o
1

3

7]



11.

@ 274

L -
b

ol o

—_——

@ 474

]

a

s

;g

—

i mw
e

@ 674

I

9/]

o
7N

5

]_

2~
s

]
?

il

2

® 874

A

S



12.

A



mj

S
=T

FA Holx 3 Aol

ot

L,

q_

1=
T’:Zl:}

il

1jo

=
=

<

i

A



I
A

Al gaz Z
toizt.

S

1‘ﬂ_]-1:

KeX
=

:[L

SolA 1

5}
H
7F16 N o, A= n 2 gh

,n} o] FE4

= {132’

A
o 7

Ton
<A

O
=

2~
s

I3t

£



@ n(@) +n({0}) + n({2}) = 2

@ n({10, 11, 12})) - n({2, 5}) =1
® A cBolH, n(A) <n(B) °|th.
@ n(A) <n(B) °]¥H A c B °|t}.

® A =B o|W n(A) = n(B) otk



x= 101]

o

= {1,5,7,11} , B = {x|x= 129] ¢}, C =
o] 29] Hjj£=} o thstd n(Bn (AU C)) & F+otozt.

{x |






ol
e
ol

ol

ol
14

@ A A ® B, @ @ B, A ® 2, A

@® A, B



19- @@-A - {1’ 3; 67 8}’ B = {1’ 3’

@ 16 7 @ 87 ® 4 7 @ 27 ® 170



Bo



21. U= {x|xt 10 ol5te] A4eA%) o Hhsto] A — [x| xi 8] O,
BC:{x|x%2—°/] HHZF} o o, Ac— BT &7

@ {3,5} @ (3,7} ® {3,5,7)
@ {3,5,7,9} ® {3,5,7,8,9}



22. T3 Hl thojol g o] MAJF BES e =
Zlo] obd A-2?
O B-4 @ A°NB
® A°UB @ B-(ANnB)

® (AUB)-A



= {2,4,a®> —a -1}, = {2,a+ 2,a®> - 2a)° o
(2,5} o] a3t Fotal o] wf, et ALl HE A9

o2 5 axbE WA AL AL

® -22 @ 15 ® 33 @ 13 ® 11



24. AAYG U o F FE2HL A, B ol thste] n(U) =15, n(B-A) =
5 n(B)=8,n(A)=7%4 ™, n(A-B) =7

® 3 @ 4 ® 5 @ 6 ® 7






o

Ton

ojn

such ke 30] Wi

1=
L.

@ {x]|x

&

—_—

® {x|2<x<5%

@ {x]|2<x<5%A AL

A4A%)

o
g

® {(x|x=4n-5, n



27. T AT A = (x| x=n9] ¢k, B = (x| x= 549] k) o Tiste]
ACB, A+ Bol7] $It A4 n o] 2 BE F 7|17 opefet,

> R A



28. Tty IV ol B, 25, o, Hab 47
|
<t

.
Atk Al d A, B,.C
e zg ), [l 113 c, = 5 4
2o = g oft, D
N
A={x]|x
L 57t 4% b o) AR A5 A)
B={x|x
57 52 ek v AR 50 A)
C={x|x
57 GLbehd W) AR A5 A )

Al Jc
B[ |c

S



w

{-1, 0, 2a -5, 5} ,B=1{0, b+ 3, 3} ol thold AUB =
. 5}, ANB = {0, 3}°17] A%t a, b O] & 72} F5tofet,



Stof st

= g ddote
@ AcB
® ANB=9

® BcA



{1, 8}d f a

Q

|

<
X
=
5
[ap)

=

i_v

S

al
[
Q A_u
=¥
& A
- S
— .
(s
< o
ol ol
N RE
WE or
—

@ 2 ® 3 @ 4 ® 5

D1



— (1,3, 5)
(A% B) % C ©

{1,2},C
]

1,2, 3,4},B=

U:{l, 2, 3, 4’ 5},A:

oA AxB

St
H

v

(A-B)U (B-A) 2t &3 o,

ol

ol

ol

ol

11

® 10



= {({2<x<10}, B =



